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1. Find the general solution of the differential equation ' +y = (x + 1) {(10%)
2. Please use Laplace transform to solve the following O.D.E, (15%)

Y+ 6+ 8y=e y0)=y(0)=0
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{5—4 25 —3 sz+4} (10%)
4 a—u—aaz—u 0<x<ag, t>0 (159%)
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B.C u(0,H=0, u(a,d)=0
LC. u(x, 0)=fx)

5. Find the eigenvalues and eigenvectors of the matrix and diagonalize it. (15%)
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6. Evaluate i‘F(r) -dr , where F = (x* + ) i + 3xp j, C: counterclockwise around the

boundary of the triangle with vertices (0, 0), (1, 0), (0, 1). (15%)
7. Find the Fourier series of the function Ax) =|x| if-1<x<1,fx+2)=Ax). (10%)
2 . .
8. Represent T in the form a+ bi, where ¢ and b are real numbers and i=+—1. (10%)
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